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Congruent Triangles: HW

1) Identify the congruent triangles in the given figure
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2) Verify that the following transformation preserves congruence.
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Determine whether AEFG = AMNP given the
_ coordinates of the vertices. Explain.
b E(—4,-3), F(—2, 1), G(—2, —3), M(4, —3), N(2, 1), C. E(-2, ~2), F(—4, 6), G(=3, 1), M(2, 2}, N4, 6), P(3, 1)
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Use the given information to identify the congruent triangles. Describe what congruence shortcut you used and
what angles or sides you know are congruent.
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b. Name the 3 congruent corresponding parts:
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a. Short cut congruence used
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b. Name the 3 congruent corresponding parts:
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a. Short cut congruence used
D b. Name the 3 congruent corresponding parts:
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a. Short cut congruence used

b. Name the 3 congruent corresponding parts:
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Congruent Triangles: HW

1) Identify the congruent triangles in the given figure

2) Verify that the following transformation preserves congruence.
apsT = apsr ST =172
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Determine whether SEFG 2 AMNP given the
coordinates of the vertices. Explain,
. g4, 3y, Fi=2, 13, C(=2, =31, M4, —3), N2, 1),
Pz, ~3)
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C E(~2, -2, F(~4, 6), G(-3, 13, M(2, 2), N, 6), P{(3, 1)
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Use the given information to identify the congruent triangles. Describe what congruence shortcut you used and
what angles or sides you know are congruent.

a. Short cut congruence used ;3& 5

i b. Name the 3 congruent corresponding parts:
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a. Short cut congruence used _B_ﬂ_s_

b. Name the 3 congruent corresponding parts:
A: (Sl given
A: CUTR XSTR gwen
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a. Short cut congruence used

ASTR = AUTR

b. Name the 3 congruent corresponding parts:

NoT =

a. Short cut congruence used

b. Name the 3 congruent corresponding parts:
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